MODEL : CF 8881 (5 Assembly Instruction

A| Headboard | 1PC [B]  Footboard 1pC [C]  SideRail 2pcS [D]  EndHolder [ 26PCs 1] scecmex20 | spcs [ 2] scBemexao | 8pcs [ 3] scBemexso | 3opcs [ 4] scecmsxso | 10pcs

E| MiddieHolder | 13PCs [F Slat 26 PCS | G [ pump o 2pCS |H| BracketBase | 2PCS 5| M6 spring Washer | 64PCS [ 6] Mé Flat washer | 64Pcs [ 7] MeHexNut | 18PCS | 8] M8 Spring Washer | 20 PCS

1 FB /SR Angle Barcket 2PCS |J |Main Frame (Front & End)] 2 PCS | K | Main Frame (Side) 2PCS (L _ Center Rail _ 1 PC 9 _ M8 Flat Washer _ 20 PCS _O_ M8 Hex Nut _ 10PCS |11 M4 Allen Key 1 PC 12 M35 Allen Key 1 PC

M| Metal Corner Bracket 4PCS [ N | Rubber Corner Connector| 4 PCS [ O Support Legs _ 1PC P Gas Spring 2PCS _w_ M6 Spanner _ 1PC _&_ M8 Spanner _ 1PC 15 Frame lifter 1PC 16|CSK ScrewM4x 16mm | 2 PCS
NG

Q _ Stopper _ 1 PC R _ Headboard Legs _ 2PCS |S Side Wing 2PCS

RI> R2 S1 S2




Step 1: Open the black non-woven fabric on the back of headboard and take out all the parts out.
Tighten the headboard leg and side wing to the headboard .

Step 3: Hook and tighten the side rail to headboard
and footboard .




Step 4: Tighten the angle bracket to both footboard & side rail. Step 5: Attach the handle to the main frame as shown .

B

Step 6: Assemble the main frame as shown. The hole for bolt between first & second pair of holders indicate the frame end where it will need to fix to headboard end.The hole for bolt between second
& third pair of holders indicate the frame end where it will need to fix to footboard end.

Hole for bolt between first & second pair of holders' hole to be fixed to headboard end. ’ Detail B

Headboard End
Hole for bolt

Hole for bolt

Detail A H,UOO\H_HVONHQ mSQ Hole for bolt between second & third pair of holders' hole to be fixed to Footboard end .




Step 8: Attach the support leg to the center rail of the bed as shown .

o

Q)

v
‘-
= L]

q

Step 7: By using a rubber hammer or similar tool to gentlely hammer in the rubber
corner connector to the metal frame as shown.

Footboard End

Step 9: Attach the center rail to the main frame as shown and fully tighten all the screw of the
main frame.

Headboard End

Footboard End ““a







* KA13u1p10o5oe Sumyiy dy) [[B UAYSI) pue 1d3ORIq A} 0} dWel) urew Ay} A[quassy 4] darg

‘nu oy udy3n ANy Ased[d © umoys se urede yoeq 1 yoene pue 3ulids sed Jo nu-xay payoene-a1d a3l maosup :¢] dog

-03o1dwod st Aquudssy g1 doig




